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Q.1 A)Choose the Correct alternatives from the following.

1 Public administration is which types of science?
a) Natural b) Moral
¢) Social d) None of the above

2 What we said when the administrative power is centralized in senior officers?
a) Decentralization  b) Centralization

¢) co- ordination  d) communication

3 Provides capital to the public corporations.
a) Government b) People
c) Capitalist d) Private Companie

4 In which country we found Independent Regulatory Commission?
a) U.S.A.  b)US.S.R.
¢) China  d) England
5 Who wrote the book ‘Administrative Behavior’?
a) Herbert Simon b) L.D.White
¢) Moone d) Max Weber
6  What do Osborg and Gambler call new government?
a) Customer centric governance
b) Consumer controlled governance
¢) Consumer oriented governance
d) None of the above
7  Production can be manufactured with more skills and less expenses with ...........
a) Co-operation b) Privatization

¢) Globalization d) Socialism
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........ This French thinker proposed the management theory of administration.

A)Henri Fayol B) L. D. White

C) Willoughby D) None of these

.................. has said that policy and administration are the twin children of politics.

A)Peter Odgaard B) John Goss

C) Paul Appleby D) Brownlow
In 1900 ------------ This thinker wrote Politics and Administration.
A)Peter Odgaard B) John Goss
C) Paul Appleby D) Brownlow

Q.1 B) Write answer in one sentence.
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What process is involved in human life and social life from birth (Cradle) to death (Grave) of the
individual ?

Which French thinker wrote the first book on public administration, 'Principles of Public
Administration' in 18827

What happens when many people come together and work together for the same purpose?

How many factors have been mentioned to determine whether there should be centralization or
decentralization in administration?

Which of the following elements are legally like an artificial person?

The Tennessee Valley Authority, The Panama Rail Road Company are public corporations in which
country?

Who appoints the directors of public corporations?
Who first advocated the people's choice approach in 1960?

In which year did David Osborne and Ted Gabler write the book 'Reinventing Government' on the
subject of New Public Management?

Development Administration is the same as Public Administration What kind of science is that?

Q.2.Write short Notes (Four out of Six) .
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Public administration is a science
Means of coordination.

Features of Public Corporation
Privatization in India

Features of New Public Administration

Importance of Development Administration

.3.Write short Answers (Two out of Four) .

Explain the similarities between public administration and private administration
Explain the factors that determine Span of Control.
Explain the control of the cabinet over Public Corporation.

Explain the features of the Development Administration.

.4.Answer the following question on broad. (One out of two).

What is meant by Organization? Explain the supportive elements of organization.

Explain the meaning of Public Corporation and its aims and characteristics.
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